={1,2,--- ,n} oM n & ZFT FEHLE 757t 16 At

n 9] g2 Ftelel,

el



2. 100 ol5e] AAG FoIA 3 ] whol A} 4 9 i< 0] A4S Tstolel.






= A x|z 5 O] i}, {z|z= 75 o] oF4=} of disto] ok ®

A= { B =
trolol 1o ek u), A AE Fo] sjgeh €47t o ALY

A B

@ 5 @ 10 ® 15 @ 25 ® 75



wAE % o

gl A
Mo 12 3 o, A 9} B RF EH

A=ASBF

obkﬂg 19 tg’ B

AR )

o}

-

F

o

A

A

rflo



6. n({1, 3,5 7)-n{1, 5 7)) +n{0,2}) o g& F5lojat,



A

ot

2
ES

tlo
|

afat,

o
Mo

<
@ {z|lze &5} C{z|z= &5}

@ {z|ee= sEo 22 A9} c {1, 2, 3}
® {afo 259] W=} C {100, 200, 300}
@ {z|z= 39 Wi} O {afze= 99] B}

® {zlz= &5} C {1, 3,5, 7}



AT A = {afoE 120 ©I5H] 59 B}, B = {zfo= 120 ©]ske] s Wi}
of Tisted n(AU B) o] k& Fatolet,



T A% ¢, D o tiste] n(C) =12, n(D) =8
n(CND)=4 L M, n(CUD)E?

® 15 @ 16 3 17

@ 18

® 19



ol

ot

]



11. A "F A B ol st 4 ={1,3,5}, B=1{2,4,6},C={z+y|zc

@ 5 @ 6 ®7 @ 8 ® 9



A

@ (AnC)-B ® (AuB)-C

® (AnB)-C

® (BuC)—-A

® (AUC)-B






? (8 270)

o

—

of
il
7A

olJ
HH

R

‘o]

=0
o
il
=

Tor

7

__('D_
@ Selteeld Q7571 7}

1

@ EFFAI7F 60 kg ©l5kS

o]
=

e wAYm

Z
A

€3

oH

=0
ol

Ay
!

oF



15.

o
.

25

o}
1o

ol ¥ H
—JTT‘:;S

T EOIA P 1 732 HEA

o1 771 32 A o A<



